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ACADEMIC YEAR 2022-23
GRADE: IX
SUBJECT: PHYSICS
CH – 10 – GRAVITATION – ASSIGNMENT – 5


A. Answer in short:

1. What is the source of centripetal force that a planet requires to revolve around the Sun? On what factors does that force depend?

2. On the earth, a stone is thrown from a height in a direction parallel to the earth’s surface
while another stone is simultaneously dropped from the same height. Which stone would
reach the ground first and why?

3. Suppose gravity of earth suddenly becomes zero, then in which direction will the moon
begin to move if no other celestial body affects it?

4. Identical packets are dropped from two aeroplanes, one above the equator and the other
above the north pole, both at height h. Assuming all conditions are identical, will those
packets take same time to reach the surface of earth. Justify your answer


B. Answer the following questions:

1. Distinguish between mass and weight. Show that mass of a body numerically equal to
weight of the body except at the centre of earth.

2. Two particles of equal mass(m) move in a circle of radius (r) under the action of their
mutual gravitational attraction. Find the speed of each particle.

[bookmark: _GoBack]3. How does the weight of an object vary with respect to mass and radius of the earth. In a hypothetical case, if the diameter of the earth becomes half of its present value and its mass becomes four times of its present value, then how would the weight of any object on the surface of the earth be affected?
	
4. How does the force of attraction between the two bodies depend upon their masses and
distance between them? A student thought that two bricks tied together would fall faster
than a single one under the action of gravity. Do you agree with his hypothesis or not?
Comment.
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